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Q32c During exercise, the person needs more energy. Thus, the person's 
breathing rate increases to take in more oxygen and breathe out more 
carbon dioxide in the process of gaseous exchange at a faster rate to 
release more energy and carbon dioxide. 

Q33a Both Y and Z have a cell wall and a nucleus. 

Q33b (i) False (ii) True (iii) True (iv) False

Q34a Ballqons:Lungs Drinking straws: Windpipe 

Q34b The plastic bottle represents the ribcage. The ribcage protects the vital 
organs such as the heart and lungs preventing the vital organs from being 
damaged easily. 

Q35ai Inhaled air: contains less carbon dioxide 
Exhaled air: contains more carbon dioxide 

Q35aii Inhaled air: contains less water vapour 
Exhaled air: contains more water vapour 

Q35b Amount of oxygen will remain the same as the oxygen that the organism 
takes in for respiration will be replaced by the oxygen that enters through 
the holes in the gauze. 

Q36a Substance A: Food Substance B: Water 

Q36b The roots absorb water and mineral salts from the soil. The water in the 
water-carrying tubes is transported up through the stem to the fruit. 

Q37a Branch X: thickness increase; colour green 
Branch Y: thickness decrease; colour green 

Q37b The food-carrying tube above the branch Y was re·moved. Hence, less 
food will be transported to �he branch Y from X than before, slowing down 
the growth of the branch. 

Q38a E--.D-► C--.A-► B 

Q38b The cooler water in the seawater gained heat from the warmer 
surrounding air to evaporate and form water vapour. The warmer water 
vapour rises, comes into contact with the cooler underside of the plastic 
sheet to condense and form water droplets. When enough water droplets 
accumulate on the plastic sheet, the water droplets would become heavy 
enough to drip into the bowl. 

Q38c John should change the bowl of drinking water to a narrower bowl. There 
would be a larger exposed surface area in contact with the warmer 
surrounding air and the warmer water in the seawater can evaporate 
faster to form more water vapour. 

Q39a As the hot stones contain heat, the cooler water would gain heat faster 
from the warm hot stones. 
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Q39b Wood is a poorer conductor of heat than metal. The cooler metal container 
gained heat faster from the warmer water. The warmer metal container 
came into contact with the cooler surrounding air and lost heat to the 
cooler surround air. 

Q39c Surface X. X has a larger surface area in contact with the container. Thus 
surface X will conduct heat away from the container at a faster rate. 

Q40a& 

b 

Q40c When one propeller is faulty, the circuit becomes an open circuit. Thus 
electric current cannot flow. 

Q41 a When a-magnet is hung freely, the magnet would always come to rest in 
the North-South direction. 

Q41 b Object X is a magnet because the like poles of both magnets are facing 
each other, causing them to repel each other and the toy car would move 
back. 
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